F

} LeaSt common Denominate,
|

b find and use the least com

¢ . mon d -
0 10 add mixed numbers, Cnominator

U
0%
1,13
fnd 23 T 192
g ot
gtimate. 25 + 15=4

find the LCD. Write .
equivalent fractions. Add the fractions. Add the whole numbers.
Write the answer in
simplest form if needed.
i= 25 1 4 1 4 (
+1= = +12 5 5 5 5
12 12 +112—+1ﬁ +11—2—+1ﬁ
9 9 _ .3
12 312=3; 1'

B A G ;
So, 23 + 135 = 33 Since 33 is close to the estimate, 4,
the answer is reasonable.

More Examplies ‘

0 o ® {
275 " 2o A 3_ 449
: s 2= sl 143 = 142
L 1_443 = L 2
1= +112 +43 = +43 +12¢ = +125 {
201 R 10 _ 401 1 j
322 -341L=42 910 = 10] 2633 ‘
1

* Why is estimating a good method for checking your answer?

{
tMAT" IDEA Make a model or use the LCD to add mixed numbers.

b Check

il
1. Explain why in Example B, 9> was renamed as 10,

Find the sum in simplest form. Estimate to check.

1 S S
2, ]% 3. 2% 4. 5-:1§ 5. 4g 6. 8?
+ol +1L +2¢ +23 +32
1.2 2 _6 =3
< | 4, ,3
7, g 5% w1 1,42 9, 95+ 8 10. 97 + 2=
453 15 8. 1z + 33 472 5 <10

LESSON CONTINUES (D

FCaT SSSIGLEs MA.A.1.2.3.5.1 Translates problem situations into diagrams, models, and numerals using

TESTED whole numbers, fractions, mixed numbers, decimals, and percents. also MA.A3.2.1.5.3, Chapter 17 369
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N

» GO W T R LD Extra Practice, page 380, Set A

Find the sum in simplest form. Estimate to check.

1. 42 12. 3l 13. 5 14, 52
16. 23 17. 3l 18. 5 19. 2%
21. 75 + 4 22. 42 +2} 23. 52 + 2;
25. 65 + 3l 26. 531 + 21 27. 43 + 23

P

' =3l 1ig= 1
29. 0 +n = 3l 30. 55+ 8 =n + 5%

b4
<=BALGEBRM  Find the value of .

24. 43 4 35
gt 312

28. 71 4 (1
g " 116

A
= LGEBRM  Find the value of n. Identify the addition property used.

2 4, _ 24 g2
31.7+(n+7)-.(7+67)+%

4 — 24 = ok 3=
32.45+n—45 33.n+n—32 34.n+25 4

Use DATA For 36-38, use the line graph.

The Appalachian Trail goes through Damascus in
southwest Virginia. Damascus is known as the
“friendliest town on the Appalachian Trail”

36. Does the precipitation in Damascus increase
or decrease from January to March? Explain
how you know.

37. Find the total precipitation for
3 consecutive months of the year,
beginning in January.

38. ﬁWrite a problem, using the information
in the graph, that you can solve by adding
mixed numbers.

39. This week, Amanda worked 21 hours
on Monday, 1% hours on Tuesday, and
22 hours on Wednesday. How many
hours did she work this week?

370

 DAMASCUS, VIRGINIA

14 h=112
35. 36+n_116

IONTHLY PRECIPITATION

(8, ]

i

+£a o+
D= N[—= bW

4l a4l

»

e

Precipitation (in inches)
w w w
= N= W

=

| —

W

|

S

Jan Feb Mar Apr May Ju
Month

40. Vocabulary Power Sometimes

. '\
companies advertise that they will 9
a free estimate. Explain what a €€

estimate is.
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Subtract Mixed Numbers o
2
ALL ABOARD! Jacob collects model trains. He is 5. 1
setting up the track for one of his models. He bought

(5,1 - wIN W=

33 feet of new track, but 12 feet of it were damaged.
How many feet of new track were not damaged?

Example subtract. 31— 13
> First, make an estimate. 33 — 1 = 23

One Way Use a model.

To subtract 13, replace the 1 bar with 1 bars.

1 1
Subtract 17 35 =1

Another Way Use the LCD.
3% = 3% Find the LCD. Write equivalent
fractions.

—13 = -1} .Subtract the fractions and the
—— whole numbers.

3
237 \Write the difference in simplest
form.

So, 25 feet of new track were not
damaged. Since 2 is close to the
estimate of 23, 23 is reasonable.

L e e g e e

You can also use a calculator that operates
with fractions to subtract mixed numbers.

A The Toy Train Museum in Kenner,
Louisiana

=<

o)) (1 jes(4)(=)| ;

ny

S

L=

Li-<
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ﬁ W ‘:“‘jr%!lﬁechnology l.#nﬁ
. gxplain how you can tell your answer is reasonable when . —

find the difference in simplest form. Estimate to check.

2

subtracting mixed numbers.

3 _1 7
1 —2< 1
__2—8- 25 =

/

- More Practice:
Harcourt Mega Math
The Number Games,
Tiny’s Think Tank,
Level W

n

5, 32

find the difference in simplest form. Estimate to check.

6.

1.

11 7. 52 1
_42 —nl Eo 1
i, =4 3%
7 Al 3 1,5
512 43 12. 64 21_6

}#‘,‘ LGEBRA Find the value of n.

15.

T S_q3_51
n 12 3 16.3n 1= =2

8 4

Use DATA For 19-20, use the table.

18.

20.

21. % What's the Error?  Marty compared the length of four Z scale

Getting Ready for ECAT

: 2 Each week students volunteer at a local

How much longer is the
S scale caboose than the
HO scale cabocse?

7 3
9. 41—?? 10. g
—Zﬁ)' —3ﬁ
3_,51

14. 75 24

18. 85 — 35 =53

DU RA ABUU

In which scale is the el 51 Ho N z

7 pEi ize (i 1 1 4 3
caboose 275 mgnes fonger Size (in.) 45 33 1 5 1 l
than a caboose in N scale? T e i s e —

cabooses with the length of one HO scale caboose. He said
they are the same. Describe his error and write the correct answer.

——

hospital. They record their hours in a Student Volunteer Hours
table. Find the difference between the George 5%
greatest number of volunteer hours and Jake 1
the least number of hours. : -
Erica 51
A. 2 hours C. 3 hours = s
B. 23 hours D. 3% hours | Zach i
| - z > :
;Eé«;ED %;IGLEs MA.A.|.2.3.§.I Tran_slates problem sitgations into diagrams, models, and numerals using J
MAA3235 | ole numbers, fractions, mixed numbers, decimals, and percents. also MA.A.3.2.1.5.3, Chapter 17 373
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